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General Instructions: tedia S
1) Read carefully and attempt all questions.
-q/d’:,uwrﬁmu:’ga_/i_l

2) Encircle the correct option of each MCQ as shown in the example given below.

VORI Lo o7 4t 28 L 3502 -
Example: Hepatitis is caused by:

e oS U b e
(a) bacteria L2 (b) fuihgi o
@virus s (d) algae Lfl

3) Use black/blue inksfor writing. Use'of lead penciliis not allowed.

e e S LS Gt SISk /S LA
4) If more than one options are encircled in a question, no mark will be given.
-(ngg;ﬂ/‘jﬁﬂ&/’lu[&a&lﬁvk}c—ugufdl/‘f(ﬁ-f

Total Marks: 50 | Part-A (Multiple Choice Questions) | Total Time: 1 Hour

Instructions: Twenty five (25) Multiple Choice Questions (MCQs) are given in this part. Each
question carries two marks.

..uj/:;’»Ldl;yz..d!id,::«ﬂlrdl’?ﬂl}f(25)@5’05.-‘7‘)’!::4&[4
Q. No.1.Which of the following animals has feathers on its body?
?wan,%/,(’- L/jlg‘f( éutuw’lgég;,i”
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Q. N0.2.Mosquito is an invertebrate because it has:

PPN - M)A
(a) no backbone +&nuﬁ’ Sidor S (b) segmented body Lamm,,ﬁﬁ KU
(c) outer skeleton e b Floids 61 (d) jointed legs ez
Q. NO0.3.A pair of invertebrates is:
i 26U 0 8 2
(a) Snake, Sparrow Lz« (b) Snail, Ant Ezes
(c) Lion, Cow L8 7 (d) Frog, Lizard & e
Q. No0.4.Which of the following is a monocot?
e i Uit o
(a) Bean  L.v (b)Pea > (c)Rose  _¥ (d) Oat &
Q. NO0.5.The reproductive organ of a rose plant is:
e ST sy L
(@) leaf z (b) stem ¢ (c) flower J# (d) root b 4
Q. NO0.6.The correct life cycle of Aedes mosquito is:
cemert iy
Pupa ‘é Eg Mosquito ﬁ Egg Mosquitoﬁ Egg Pupa G; Egg
ke 3 A 1) A i) L 1%
[ { 1 1 11 1 1 |
Mosquito Larva Pupa Larva Larva Pupa Larva Mosquito
A - " PR = . A
M N 0] P
(@M (b) N o (d)P

Q. No.7.Whieh©f the following erganisms spreads ringworm disease?
S0 sl o ipbf e bt s o
(a) Bacteria | 2% (b) Algae 4 (c) Fungi de (d) Virus U7
Q. NO0.8.The attack by disease causing microorganisms is called:
e b AP sy P Lo 23Sk

(@) infection u’? u (b) condensation
(c) vaccination S (d) evaporation &
Q. N0.9.Mixing of toxic gases in atmosphere increases:

e Fred oS s
(a) air pollution ST i (b) land pollution $ITS s
(c) noise pollution ~ J>#7§.s (d) water pollution di)l’g@g
Q. N0.10. Main cause of cholera is:

199:62J~%7

(a) water pollution $oaT d7 (b) land pollution f,,ﬂ R
(c) noise pollution A (d) air pollution ST

Q. No.11. 1dentify the group of materials which can be decomposed by microorganisms.

_ujéf J‘:b’ HNE lgc:fuf/ U /. :ﬁl}d/ u{;; Lo ‘fléuﬁd}bu

(a) Glass, Rubber Yo 5 (b) Heavy metals, Sand ;/,ﬂufuu&;,
(c) Grass, Wood dﬂ(uuf (d) Plastic, Cement ._«‘.‘.‘yCQ;
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Q. N0.12. which of the following CANNOT be compressed?
I e i i

(a) Oxygen o= (b) Hydrogen Sk
(c) Wood 2 (d) Carbon dioxide ~ %L/Tdi5er8

Q. No0.13. Which of the following changes takes place upon cooling?
?‘Langb/'é'—ﬁﬁ&idg')fc.ufdjgjﬂ
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(a) : Solid ¥ Liquid 5. (b) Solid ¥
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Liquid Gas = R
quid o v Gas =

Q. No0.14. The tiny droplets of water on leaves are known as:

(a) dew <8 (b) fog o
(c) snow i (d) frost Ve
Q. No0.15. The cause of friction is:
ol
(a) smoothness =4 (b) hardness e
(c) warmness v (d) roughness  ¢gis 4

Q. No0.16. The farce whichbrings.thefootball.down to the ground is:
2%05(9804%1';{ JL.‘:’;? =

— —
6
- -~

- -~
-7 l .
- ~ o
- T,
- - et -
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= T
(2) magnetic ¥t O) gravity ~ F
(c) effort oy (d) friction o,

Q. No0.17. The man in the given diagram is making use of a rod as a/an:
S\ S £ g T AUt A E )

(@) lever (.
(b) inclined plane £ ks
(c) wedge b
(d) wheel -
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Q. N0.18. which of the following is a luminous object?

‘Lf’ S L ls
(a) Earth 03 (b) Mars G,
(c) Moon s (d) Sun Cur
Q. N0.19. shadow of a wall is formed because wall is a/an --------- object.
-c‘_()' S UL U c‘-&,l/(/l,f;
(@) luminous 5 (b) transparent a2
(c) opaque s (d) translucent Juﬁ(i

Q. No0.20. which item will allow the bulb to light up if it is used to connect point A to point B?
S sef S i g L L be Botigfasily

(a) a glass rod g
(b) a plastic comb Fi sy
(c) a metal coin L0 i
(d) a paper cup 5 4

Q. No0.21. Which of the following devices saves electric appliances from excessive amount of current?
:q.u“ab'g’ocjlﬁ’uk)g(&/}(aﬂfé/,ﬁ)f

(a) Battery ¢ (b) Switch Lr
(c) Fuse 7 (d) Bulb '
Q. N0.22. Electromagnet does not attract:

S0 U S A e
(a) silver Jal (b) iron (d
(c) nickel B () cobalt oW
Q. No0.23. Lightning is produced when clouds become:

ibze Ot s F QT

(a) rain B2 (b) charged bt
(c) heavy Ul sdis (d) neutral Lt bxnJiy

Q. N0.24. In the Sun’s core, hydrogen is being converted into which gas?

te b A S S Pt Ly

(a) Oxygen T (b) Nitrogen (75 #t
(c) Helium (d) Chlorine ¥

Q. NO0.25. The largest planet among the following is:

S Lot e Uik i
(a) Uranus JEuy (b) Neptune ~ us*
(c) Saturn S (d) Jupiter $ A
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